
Apoio Pedagógico

@limasocorro

Resolva as subtrações decompondo as dezenas.

1
3 - 5  =  8

10  -  5 =  5

1
3 - 6 =  ___

10  -  _____ =  _____

5  + 3 =  8

1
4 - 7 =  ___

10  -  _____ =  _____

1
4 - 6 =  ___

10  -  _____ =  _____

1
3 - 8 =  ___

10  -  _____ =  _____

1
5 - 6 =  ___

10  -  _____ =  _____

1
2 - 5 =  ___

10  -  _____ =  _____

1
2 - 7 =  ___

10  -  _____ =  _____

1
6 - 8 =  ___

10  -  _____ =  _____

1
6 - 9 =  ___

10  -  _____ =  _____

______  +  _____ =  _____

______  +  _____ =  _____

______  +  _____ =  _____

______  +  _____ =  _____ ______  +  _____ =  _____

______  +  _____ =  _____ ______  +  _____ =  _____

______  +  _____ =  _____ ______  +  _____ =  _____



Apoio Pedagógico

@limasocorro

Resolva as subtrações decompondo as dezenas.

1
3 - 5  =  8

10  -  5 =  5

1
2 - 8 =  ___

10  -  _____ =  _____

3  + 5 =  8

1
1 - 7 =  ___

10  -  _____ =  _____

1
3 - 6 =  ___

10  -  _____ =  _____

1
4 - 6 =  ___

10  -  _____ =  _____

1
7 - 9 =  ___

10  -  _____ =  _____

1
7 - 8 =  ___

10  -  _____ =  _____

1
3 - 5 =  ___

10  -  _____ =  _____

1
4 - 8 =  ___

10  -  _____ =  _____

1
4 - 5 =  ___

10  -  _____ =  _____

______  +  _____ =  _____

______  +  _____ =  _____ ______  +  _____ =  _____

______  +  _____ =  _____ ______  +  _____ =  _____

______  +  _____ =  _____ ______  +  _____ =  _____

______  +  _____ =  _____ ______  +  _____ =  _____



Apoio Pedagógico

@limasocorro

Resolva as subtrações decompondo as dezenas.

2
3 - 5  =  18

10  -  5 =  5

2
2 - 8 =  ___

10  -  _____ =  _____

______  +  _____ =  _____13  + 5 =  8

2
1 - 7 =  ___

10  -  _____ =  _____

2
3 - 6 =  ___

10  -  _____ =  _____

2
4 - 6 =  ___

10  -  _____ =  _____

2
7 - 9 =  ___

10  -  _____ =  _____

2
7 - 8 =  ___

10  -  _____ =  _____

2
3 - 5 =  ___

10  -  _____ =  _____

2
4 - 8 =  ___

10  -  _____ =  _____

2
4 - 5 =  ___

10  -  _____ =  _____

______  +  _____ =  _____ ______  +  _____ =  _____

______  +  _____ =  _____ ______  +  _____ =  _____

______  +  _____ =  _____ ______  +  _____ =  _____

______  +  _____ =  _____ ______  +  _____ =  _____



Apoio Pedagógico

@limasocorro

Resolva as subtrações decompondo as dezenas.

2
2 - 5  =  17

10  -  5 =  5

2
4 - 7 =  ___

10  -  _____ =  _____

______  +  _____ =  _____12 + 5 =  17

2
1 - 3 =  ___

10  -  _____ =  _____

2
2 - 3 =  ___

10  -  _____ =  _____

2
5 - 6 =  ___

10  -  _____ =  _____

2
8 - 9 =  ___

10  -  _____ =  _____

2
3 - 6 =  ___

10  -  _____ =  _____

2
4 - 7 =  ___

10  -  _____ =  _____

2
1 - 5 =  ___

10  -  _____ =  _____

2
7 - 8 =  ___

10  -  _____ =  _____

______  +  _____ =  _____ ______  +  _____ =  _____

______  +  _____ =  _____ ______  +  _____ =  _____

______  +  _____ =  _____ ______  +  _____ =  _____

______  +  _____ =  _____ ______  +  _____ =  _____


